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Diploma Engineering - SEMESTER-III « EXAMINATION — SUMMER - 2014

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Code: 3330902 Date: 13-06-2014
Subject Name: D.C. Machines and Transformers
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Explain the construction of D.C. machine with neat sketch and function of
each part.

Derive E.M.F. equation of single phase transformer and explain voltage
transformation ratio and turns ratio .

Explain different types of D.C. generators with circuit diagram.
Explain principle o f D.C. Generator and derive E.M.F. equation.
OR

A resistance of the field winding of a D. C. shunt generator is 250 Q. When

output of the generator is 100 KW, the terminal voltage is 500Volts and
the generated Emf is 525 Volts. Calculate: (1) The Armature Resistance
(2) Value of generated EMF when the output is 60 KW.

Compare D.C.lap winding with D.C. wave winding.
Explain singly excited and doubly excited field system.

OR
Explain the procedure to obtain the load characteristic of DC shunt
generator. Draw the characteristic and explain it.
Explain the electromechanical energy conversion principle. Explain any two
applications of it.

Explain swinburn’s test of D.C. machine.
Explain power stages and various losses occurring in D.C. motor.

OR
Explain running characteristics of D.C. shunt, series and compound motor.
Explain necessity of starter in D.C. shunt motor. Draw and explain three
point starter.

Explain vector diagram of 1-® transformer for unity power factor.
Explain Back to Back OR Sumpner test.
OR
Explain O.C. & S.C. test to find efficiency of transformer.
Explain necessity of parallel operation of transformers. Explain conditions
for parallel operation of two 1- phase transformers.

*khkkkhkhkkkkik

1/2

07

07

07
07

07

07
07

07

07

07
07

07
07

07
07

07
07



YA 1

YA R

U4, 3

U4, 3

U ¥

U ¥

. U

. U

oAl
e allgld ad SLAl uellotoll Ul wa €25 GOl sl UHAAL

2lorSliRe] 8. alu A g, s UGl 5A U 2l s alot 220 W

2ol 290 U Al

usle st €l3la SLAL o2l el EL USIR AHsLC.

SLAL gotReell Rttict AHAA A 8. AN As. U520 A 52
ual

SLAL 2oz atReRell gles cldSloololl 42500 B.22UR Aeteq]

UlB2Y2 100 KW 8lal B R 2Hletet dleees 500 cle2 el %alR2S

8. AHANS. 525 Al B. dl ALl 5 (1) AUTUR 22U (2)

2R UBaY2 60 KW &l R %elRe ddl 8. M. Aol B,

slLll.au agsleote(l sLal. A assleol U AuuHE(l 53

Alotcll Asueses ua sucll Asuses sles RreH uHesal.
Ul

SLAL 2o woteRell Als(eUR) cletl@sdl Raaal Hzedl QR

AHoA A ARl 13 Al AL

B8As2 M35 Aot U Rttlid AHASA. Aoll slsurl A

GUA (At UHestal.

SLAL Hellotoll RAstolol 222 UMM

SLAL HleRetl WaR U Ual AEL AEL UsIRatl AUl Al UMl
Yl

SLAL 2o, A3 Al 51UGes HI2R0(l 2010l cllatlscl AHestaAl.

SLAL 2o W2 21e20{l w332l AHtal. Yl-Wsoe @1ER €1R

U AMesLAl.

Y[R3l UlelR 522 M2 1-5823 2l MRall As2R SLAAH AHLC.
As g As WAl AWl 22 AUl

AYcll
2lot$1HRe(l stlattdl lual Hi2 AUt Asle wal 8 usle 22
TRILIEN
2lod SlRetl UHIAR sl 3R uHestal. A flold ¥85
2lod SlHRell UHIAR SRl ARA UM A

*kkkkhkkikkkhkkik

212

09

09
09

09

09
09

09

09

09
09

09
09

09
09

09

09



